BF, 0

Anglo-@hinese Schoo! (Primary)

MID-YEAR EXAMINATION 2015

' SCIENCE
PRIMARY FOUR
BOOKLET A
Name: A ) Class: Primary 4 ___
Date: 6 May 2015 _ Duration of paper: 1 h 45 min

Parent's/Guardian’s signature

INSTRUCTION TO CANDIDATES

A o

This question paper consists of 18 printed pages including this cover page.
Do not turn this page until you are told to do so. ’

Foliow all instructions carefully.

Answer all questions. ‘

Shade your answer on the Optical Answer Sheet (OAS) provided.




2

For each of the following questions from 1 to 30, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or4). Shade the correct oval (1. 2, 3 or 4) on the

Optical Answer Sheet. . {60 marks]
1 Kingsley observed two animals, P and Q, and recorded his observations in the table
below. ‘
Characteristics Animal P Animal Q
Has gills? No Yes
Has legs? Yes No
Has wings? Yes No
Gives birth to its young alive? No No

Which one of the following best represents animals P and Q7

Animal P Animal Q
1) Mammal Fish
2) insect Bird
3) Bird Fish
4) Mammal Insect

2 Olivia saw an organism. She wanted fo find out whether it is an insect. Which 6f the
following actions would enable her to do so?

A Measure its length. -
B Count the number of legs
C Find out whether it has wings.
D Find out whether it has three body paris.
1) AandBonly
2) B and C only
3) AandConly

4) B and D only

{Go on to the next page)



Kenneth wants to find out if the amount of light would affect the growth of fungi. He
prepared two set-ups and listed the following variables that may affect the results of his
experiment.

A The amount of air present in the surroundings
B  The amount of light present in the surroundings

C  The amount of moisture present in the surroundings

Which of the above variable(s) must Kenneth keep the same for the two set-ups to
ensure a fair test?

1) A only
2) B only
3) A and C only

4) Band Conly

Mrs Loo has some flowering plants in her garden. She is able to telt that the plants are
flowering because they have .

(1) fruits
(2} woody stems
{3) spore bags on their leaves

(4) different leaf shapes and veins

(Go on o the next page)



Siu_dy the human body system beiow{

Which cne of the following statements is not true about the above human body system?

1) it supporis the body.
2) It gives the body shape.
3) It takes oxygen into the body.

4) it protects the heart and lungs. ~~

Which one of the foliowing statements describes the main function of the large intestine
in our body?

(1) it breaks down food into simpler forms.
(2) It passes the digested food to the blood.

{3) it absorbs water from the undigested food.

{4) It passes the undigested food out of the body.

{Go on to the next page)
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Michael brought one end of a bar magnet near objects X, Y and Z one at a time.

Object
X

[ N s Object
Y

bar magnet

Object
z

He recorded his observations below.

A Object X was repelled by the bar magnet.
B  Object Y was atiracted by the bar magnet.

C  Object Z did not move when it was brought near the bar magnet.

Based on his observations, which of the following is{(are) definitely a magnet(s)?

(1)
(2)
(3
(4)

Object X only
Object Z only
Objects X and Y only

Objects Y and Z only

The diagram shown below illustrates 3 lever balance. Both Object A and Object B are
the same distance away from the ground.

ject
15ch Ob}\ec

L
— ~
\

Which one of the following statements is true?

(1
2
3)
@

Object A has a greater mass than Object B.
Object B has a greater mass than Object A.
Objects A and B have the same volume.

Objects A and B have the same mass.

(Go on to the next page)
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g Janet made electromagnets using set-ups A, B and C as shown below. The batteries,
iron rods and wires used were identical and in working conditions.

iron rod

L -

Set-up A Set-up B Setup C

She then arranged the set-ups A, B and C from the one that attracts the most number of
paper clips to the one that atiracts the least number of paper clips.

Which one of the following shows the correct order?

Attracts the . Attracts the least
most number of " number of paper
paper clips clips
() A B c
(2) B A c
) o] A B
@ C B A

10 Which one of the following pair of items has been grouped comectly?

Matter . Non-matter
i 1) Heat Stone
2) Oxygen Sound
3) Rainbow Shadow
4) Water vapour Milk

{Go on to the next page)



11 Ravi wanted to find out the strength of four different types of paper, W, X, Y and Z. They
were all of the same size and thickness. He hung each piece of paper, one at a time,
using the following set-up as shown below.

{ 3}
hook
S
—— paper
=3 pap
hook
[ weight
" mae—’

He placed one weight at a time to the lower hook until the paper started to tear and
recorded his results as shown in the graph below.

10

8
8
7
6

Numbes of

weightgpelore
the paper tear

3-4
2
14
0.

Type of paper

w X oY

Based on the information above, which of the following statement(s) isfare correct?

A Y is stronger than Z. -
B Z is the strongest paper. |
C W is stronger than X and Y.
D X is stronger than W and Y.

1) Bonly

2) B and C only

3) AandDonly

4) AandConly

(Go on to the next page)
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Study the diagram below.

wooden support

moming giory

Based on the diagram above, which one of the following statements describes the
morning glory?

1)
2)
3)

4)

Study the diagram below.

The morning glory has a weak stem and is a flowering plant.

The morning glory has a strong stem and is a flowering plant.

The morning glory has a weak stem and is a non-flowering plant.

The moming glory has a strong stem and is a non-flowering plant.

Based on the diagram above, which of the following describes the leaves?

M
(2)
(3)
(4)

Leaf edge Vein pattern
Jagged Paraliel
Entire Network
Jagged Network
Entire Paraliel

{Go on to the next page)
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Eric conducted several tests on a material, Q. He recorded his observation in the table

below.

Observation Material Q
Bends easily? Yes
Absorbs water? Yes
Breaks when dropped? No

Which one of the following is material Q likely io be?

(1) Rubber

{2) Metal
(3) Ceramic
(4) Fabric

A sione was dropped into a beaker of water as shown in the diagram below. It was
observed that the level of water rose.

+—— beaker

-—— water

/¥_ stone

Whattan be concluded from the experiment above?

1) The stone has mass.

2) The stone has no volume.

3) The stone occupies space.

4) The stone has the same volume as the water in the beaker.

{Go on to the next page)
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16 Study the information provided below.

Box P Box Q Box R
Mass: 240 g ; ' Mass: 360 g Mass: 180 g
Volume: 110 cm® | Volume: 60 cm® Volume: 200cm’

Based on the information given above, which of the following statements are true?

A Box R has less mass than Box Q.
B Box R has the most mass as it is the biggest box.
C Box P occupies more space than Box Q.

1) A and B only
2) A and C only
3) 8 and C only

4) A,BandC

17 Darryl placed three different objects, E, F and G, two at a time, using a lever balance.
The resuits are as shown below.

Arrange the objects, E, F and G, in descending order, according to their masses.

() F.GE
(2 F.E.G
3 GEF
(4 G,F.E

{Go on to the next page)
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120 mi of coloured water from Container A was poured into Container B. The coloured
water was then poured from Container B to Container C. There was no spillage.

Container A Container B  ContainerC

b ~

Y
!
‘

%
/o

120 mi of coloured water —f = = ! 3

/ M
== { b

What can be concluded from the above experiment?

(1) The volume of the coloured water changed but not the mass.
(2) The mass of the coloured water changed but not the volume.
(3) The shape of the coloured water changed but not the volume.

(4) The shape and volume of the coloured water remained the same.

Four syringes of the same size were filled with different substances of the same volume.
A stopper was inserted at the nozzle of each syringe. Which plunger can be pushed in?

(1 ) (2) » AN s
stopper < s stooder
8.7 \\

saltwater

plunger NoE plunger

stopper

sugar

olunger

{Go on to the next page)
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The capacity of a rubber ball is 500 cm”>. The rubber ball was first deflated. An air pump
was then used to inflate the rubber ball. Each push of the pump forced 110 cm?® of air
into the ball. What was the volume of air in the rubber ball if the pump was pushed five

times?

S s piunger
> e L
----- — pums
inflated rubber ball -—+~ /\‘\f pums
deflated rubber bail \\j/

(1) 110 cm?®
(2) 390 cm®
(3} 500 cm®
4y 550cm’®

Fred conducted an experiment to find out the properties of an object. He then recorded
his findings in a table as shown below.

Properties Yes / No
Does the object have a definite volume? Yes
Does the object have a definite shape? No
Can the object be compressed? No

What was most likely the object that Fred was experimenting with?
&) salt

2y jely

(3)  papercup

{4) sugar syrup

{Go on to the next page)
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22 James set up an experiment as shown below.

\ Y r

— 250 m/ F 250 m¢

4 water

sand —f3
i

Container A Container B

He poured alt the water from Container B into Container A. Which one of the following
diagrams shows the results of his experiment?

(1) (2)

b 250 M/ — 250 enf

™ -
Ok SR,

Container A Container A

(3) 4)

Container A

{Go on to the next page)
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23 An equal amount of water of difierent temperatures was poured into two identical
beakers as shown below. Water from Beaker E was then poured into Beaker F.

S

Beaker E Beaker F

What is the most likely final temperature of the water in Beaker F?

(1y 45°C
(2y 70°C
(3) 80°C
(4)  100°C

24 Four identical mugs of water were left on a table at room temperature as shown below. ‘

Mug A Mug B Mug C Mug D
(water at 50°C) (water at 10°C) (water at 80°C) (water at 5°C)

Which mugs lost heat to the surrounding air?
(1) A and B only
{2) A and C only
{3) B and C only
(4) BandDonly

{Go on to the next page)
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Four metal buttons, A, B, C and D, were altached to the metal ring with the same
amount of wax as shown in the diagram below.

melal ring

When the metal ring was heated by a iit candle at one part, the metal buttons dropped in
the order of B, C, D and A. At which position, W, X, Y or Z, was the lit candle heating the

metal ring?
n w
@ X
(3 Y
(4) Z

A company wants to produce frying pans. It conducied a test on four different metals,
S, T, U and V. The metals were heated for 10 minutes. The temperatures of the pans,
before and after heating, were recorded. The resuits of the test are shown in the table

below.
Metal Temperature before ! Temperature after heating
) heating (°C) (°c)
s 25 59 ;
T 25 62 '
U 25 , 55
v 25 5 70

Based on the results above, which metal, S, T, U or V, is the most suitable material for

making the base of a frying pan?
(1) S
2 T
@ U
4 v

{Go on to the next page}
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27 Asher wants to find out which metal bar, E or F, will expand more when heated.
Which two set-ups should he use in order to carry out a fair test?

|

Rod E o Rod F

' N ] 22cmiong i i 18cmliong
Set-up B

Rod E Rod F
i8emilong

| N

Set-up C

(1) A and B only
(2) B and C only
(3) C and D only

(4) A and D only

(Go on to the next page)
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Study the classification diagram below.

17

objects
| §
poor
conductors conductors

of heat of heat

aluminium cork
steel rubber

A J B I

What are objects A and B most likely {o be?

1)
2)
3)
"

A B
Wood Copper
Wood " Air

Air Copper
Copper Air

Study the diagram below that répresents the process of how water can change into its
three different states. ' '

w
lce L___ >
{solid) |
y4

Water
(liquid)

X
>

&<

Y

Water vapour
(gas)

Which of the following shows the correct heat transfer among the three states of matter?

(1)
(2)
3
{4)

Heat Gain Heat Loss
Wand Z XandY
XandY WandZ
W and X Yand 2
YandZ W and X

(Go on to the next page)



18

Ali had difficulty separating two glass cups, A and B, which were stuck together as

30
shown in the diagram below.

» U i—— glass cup A
¥,

glass cup B

‘e,

b CME T
A AL
il

3,
" N
1Y ¥
4 o
[} ¥

hd 2

Which one of the following statements is the best solution to separate the two glass

cups?

(1) Put glass cup B in a basin of hot water and put ice cubes into glass cup A.

(2)
(3)
(4)

Put glass cup B in a basin of cold water and put ice cubes into glass cup A.
Put glass cup B in a basin of hot water and pour hot water into glass cup A.

Put glass cup B in a basin of cold water and pour hot water into giass cup A

END OF BOOKLET A

Please go on to Booklet B
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For questions 31 to 44, write your answers in the spaces provided in this bookiet.

The number of marks available is shown in the brackets [ ] at the end of each question or part
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{40 marks)

31 Put a tick (v’) in the appropriate boxes to indicate if each statement about fungi is true or

false.

2]

Statements

True

False

Fungi cannot make their own food.

Fungi exist as micro-organism only.

Fungi produce spores for reproduction.

Fungi have true roots to help them absorb water.

32 The diagram below shows a mushroom:.

ldentify parts X and .

(a) X: 651

b Y [1]

{Go on to the next page)
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33 The diagram below shows the human digestive system.

{a) State two of the parts (A, B, C, D) where digestion {ake place [2]

Kumar used some scrap materials to make a model of the digestive system as shown

below.
rubber hose i
4 plastic bag
rope —
bigger rubber hose
l’/J -
| L1
{b) Name the parts of the digestive system represented by each of the scrap
materials used. {2]

0] rubber hose:

(i) plastic bag:

' (Go on to the next page)

Score
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34 The diagram below shows the greatest distance from which the different magnets, P and
Q, will be able to attract the paper clip K.

Ty 3‘ gem by S {magnetP

Paper clip K

o rEa ;
st AT bem . N S jMagnet Q
Paper clip K :

{a) What can you conclude from the above experiment? [1]

(b) Put a tick (v) in the appropriate boxes to indicate which variable(s) to change or
keep the same to ensure a fair test in the experiment above. f11

Variable Change Keep the same
Size of paper clip
Type of magnet
Size of magnet

Position where the
paper clip is placed

{c) State one way to make a magnet weakens or loses its Amagnetism. 1

{Go on to the next page)
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Aaron used two similar plants to conduct an experiment as shown below. He removed
the roots of the plant in Set-up 1, and left both plants in a room in the same location.

water

Atfter eight hours, he measured the amount of water left in each set-up, and recorded his

results in table below.

Set-up Amount of water at the Amount of water at the |
start of the experiment end of the experiment
1 500 ml 420 ml
2 500 mi 340 mi
(a) What was the aim of Aaron’'s experiment? [1]
{b) State the two main functions of the stem in a plan? {2}
(i) .
(i)
(Go on to the next page}

Score




36 Study the flowchart below.

(a)

(b}

Animals J Does it feed No | Does it have an
on plants? outer covering of
scales?
} Yes
) Yes
Does it have an outer No \ 4
covering of hair? » C B

No

Yes

v

D

Lucas was given a pet animal with hairs on its body and it feeds on piants. Based
on the classification diagram, which one of the animals, A, B, C or D, represents
Lucas’s pet animal?

1

Based on the flowchart above, which letter, A, B, C and D, correcily represents
each of the animals below.

Animal Letter

0}

tiger

U)]

horse .

(i)

crocodile

(iv)

grasshopper

2]

(Go on to the next page)
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Study the flowchart below carefully.

Is it matter?

-No

Yes

Does it have a definite volume?

No

Yes

) 4

Does it have a definite shape?

No

v

Yes

Using the flowchart above, which letter best represents the following items? {2}

item

Letter

Air

Heat

Bottle

Orange juice

{Go on to the next page)

Score
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38 Zachary squeezed a lump of plasticine into a boitle as shown below. He managed 1o

squeeze it in.

lump of plasticine

(a)  Which siate of matier is plasticine in? 0]

{b) Zachary then moulded the plasticine into different shapes, one at a time. He
made sure that all the plasticine was used every time. State the mass and

volume for each shape of plasticine that he has moulded. [2]
Shape Mass {g) Volume (cm)
Lump of plasticine 25 35 -
cylinder
box
(Go on to the next page)
Score
3




39 An empty plastic bottle was inverted into a glass tank filled with water. The bottle was
then given a tight squeeze and released.

empty plastic bottle

——- glass tank filled with water

{a) What was observed at the mouth of the plastic botlle when it was squeezed?

(]

¢ {b) Explain your answer to (a). [11

{c) What was observed about the level of water in the piastic bottle when it was
released? [1]

(Go on to the next page)

Score
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40 Two boys, Mark and Tom, conducted two experiments with the same aim. Mark set up
an experiment as shown in the diagram below to find out which metal pole, E,ForgG,
expands the most when heated. However, he did not carry out a fair test.

metalpole - - B F' G

metal bar 4 ﬂ
V [ W _,,v.‘?x... - SR r. - - 2‘,._ . g
lit candle - Ff'g: ¥
i P .
¥ :

{a) Which variable(s) should Mark have kept constant in order to conduct a fair

experiment? Put a tick (v) next to the variable(s). {1
Variable To be kept conistant
Size of metal poles
Type of metals
Size of candles

The other boy, Tom, conducted the experiment correctly. The resuits of his test are
iltustrated in the graph below.

Length of expansion

10

Metal E Metal F Metal G

{b) A company wants to make railway tracks. Based on this experiment, which
metal, E, F or G, should the company use to make the raitway tracks so that it

doesn't buckle on a hot day? {1
(c)  Explain your answer to part (b). 1}
(Go on to the next page)
Score
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41 Martin secured a deflated balloon over the mouth.of a plastic bottle. He then blew air into
the balloon. However, he realised that it was impossible to infiate the balloon.

- balloon
/‘(\ a
\\\ ../~ T plastic bottle
Wi
\ >
{a) Why was it not possible to inflate the balloon? [1]

{b) After Martin poked a hole on the bottom of the plastic bottle, the balloon could be
inflated. Why was this s0? 2]

42 Ethan wanted to find out the volume of a pebble. He conducted the experiment and the
steps he took were listed below.

(a) Number the steps taken éccordingly. Step 1 has been stated. [23
Procedure Step
Fill the measuring cylinder with 20 ml of water. 1

Record the total volume of the water and the pebble in the measuring
cylinder.

Repeat the procedure for two more times.

Place the pebble in the measuring cylinder carefully, ensuring that the
water doesn't splash out, and the pebbie is fully submerged.

Find the difference between the volume of the water and the pebble, and
the original volume of water in the measuring cylinder.

(b} Why is there a need o repeat the procedure more than once? 1

(Go on to the next page)
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A balloon was attached fo the mouth of an empity flask and suspended on a retort stand
as shown below. The flask was placed above a bunsen burner and heated for a few
minutes. It was observed that the balloon became inflated.

(a)

(b)

inflated balloon

flask

retort stand

bunsen burner

What was the aim of the experiment? {1}

A hot air balloon requires its material to stretch fairly well when it is heated.
Explain why such a material is needed to create the hot air balfloon. M

A test was conducted on three different materials to determine their ability to stretch. The
results are shown in the table below.

Material Total length of stretch made (cm)
Cotton 2

Leather 4
Nyion 8

{c)

Based on the above results, which one of the materials, cotton, leather or nylon,
is best suited to create the hot air balloon? i1

{Go on to the next page)

Score
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44 Classify the list of items below into two groups according to whether they are good

conductors of heat or poor conductors of heat.

{3

Aluminium Steel

Plastic Styrofoam

 Rubber

lron

Good conductors of heat

Poor conductors of heat -

END OF BOOKLET B

Please check all your answers carefully

Score
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Size of paper clip v
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Position where the paper clip is v
placed '

Q34c. Heating can make a magnet weakens or loses its magnetism.
Q35a. To find out if the plant with roots take in more water.
Q35bi) To support the plant.  Q35bii) To transports food and minerals to the rest of the plants.
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Q39a. Air bubbles were forced out of the water.

Q39b. When the person squeezed the bubbles out of the bottle.
Q39c. The level of water increased.

Q40a

Variable To be kept constant
Size of metal poles v

Type of metals

Size f candles v

Q40b. Metals

Q40c. Metal F expanded the least.

Q41a. The air in the plastic bottle occupied space

Q41b. As the balloon occupied more space, the air in the bottle can escape.

Q42a. 1,3, 5,2,4

Q42b. To reduce experimental error.
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expand when the material gains heat from the hot air. Otherwise, the material will tear.

Q43c. Nylon

Q44.

Good conductors of heat Poor conductors of heat
Iron plastic

nickel styfofoam

silver “wool
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